1
1
1 SiH, 0.5~50%
2 PH; 5~5000 x10°
0.5~15%
3 AsH; 5~5000 x10°
0.5~10%
4 B,Hs 5~5000 x10°
1~10%
5 GeH, 0.5~50%
6 HCI 10~1000 x10°®
0.1~10%
7 H,Se 5~5000 x10°
8 5~150 x10°
(C2H5)2Te
9 CO 1~1000 x10°
0.1~3% 22%
10 Cl, 50~1000 x10°
0.1~3.5% 28%
11 NH; 5~50%
12 CF4 5~100%
13 SiF, 10%
14 SFg 5~100%
2.
13
2
20% x10°°
N, | O, | THC/CH, | H,O | CO+CO,
V.LSI | VLSI-Ar | 36 | 1.0 0.3 1.0 0.8 N.D
L.S.I L.S.I-Ar 52 | 1.0 0.4 1.0 0.8 0.2
-Ar | 144 | 36 8.4 1.4 2.4 2.0
V.LSI | VLSI-He | 0.8 | 06 0.2 0.4 05 N.D
L.S.I L.S.I-He 24 | 06 0.3 0.4 0.5 0.2
-He | 12.0 | 2.8 8.4 1.4 2.8 2.0




V.L.S.1 V.L.S.I-N» Bal. 0.6 0.3 0.6 1.0 N.D
L.S.I L.S.I-N; Bal. 0.6 0.4 0.6 1.0 0.2
-N, | Bal. 2.8 8.2 1.4 3.0 2.0
V.L.S.1 V.L.S.I-H, 0.7 0.4 0.2 0.6 0.5 N.D
L.S.I L.S.I-H; 2.3 0.4 0.3 0.6 0.5 0.2
-H, 9.6 2.8 8.8 3.0 3.6 2.0
3
15% x10°°
N, O, | THC/CH4| H,O | CO+CO, Hy, | AsHj
V.L.S.II | VLS.I-Ar | 3.6 1.0 0.4 1.0 0.7 3.9 0.2
8.3 2.0 0.9 2.4 2.0 15.9 2.3
-Ar
V.L.S.!I | V.L.SI-He | 0.6 0.6 0.3 0.4 0.4 3.2 0.2
5.8 1.3 0.9 0.4 2.0 15.0 2.3
-He
V.L.S.I V.L.S.I- 0.5 0.4 0.3 0.6 0.4 Bal. 0.2
H>
- 3.2 1.3 1.3 4.1 3.2 Bal. 2.3
H,
V.L.S.I V.L.S.I- Bal. 0.6 0.4 0.6 0.9 0.9 0.2
N>
- Bal. 1.3 0.7 2.4 2.6 15.9 2.3
N,
4
10% x107
N, CO, H, H,O CH4
99.9% | V.L.S.I-Ar 8.6 50.2 5.9 1.0 0.5 33.0
99% 57.2 50.5 201.0 1.0 15.5 33.0
-Ar
99.9% | V.L.S.I-He 55 50.1 5.2 .03 0.4 33.0
99% 54.5 51.0 200.0 1.0 155 33.0
-He
99.9% V.L.S.I- 5.3 50.1 Bal. 0.6 0.4 33.0
H.
99% - 51.8 51.8 Bal. 3.0 16.0 33.0
H.
99.9% V.L.S.I- Bal. 50.2 5.0 0.6 0.5 33.0
N2
99% - Bal. 50.2 201.0 1.0 15.2 33.0
N>




10% x10®
N, 0O, THC/CH,4 H>O CO+CO»
V.L.S.I-Ar 3.8 1.0 0.3 0.7 1.0
Ar 7.4 1.9 0.6 0.8 1.0
V.L.S.I-He 0.7 0.5 0.2 0.4 0.3
47 1.0 0.6 1.2 1.0
-He
VLSI- 0.5 0.3 0.2 0.6 0.4
H,
i 2.0 1.0 1.0 2.0 3.0
H,
VLSI- Bal. 0.5 0.3 1.0 0.6
N>
i Bal. 1.0 0.3 1.4 1.0
N>
6
30% x10®
Nz 02 C02 THC/CH H, Ar Hzo CF4
4
99.99% | V.L.S.I-S | 345 5.1 1.5 1.3 1.5 6 24 | 175
Fe
99.9% - 1 2200 | 550 | 15.0 33.5 3.0 70.0
SF¢
7
10% x10®
N, O, | THC/CH,| H,0O | CO+CO, H,
V.L.S.I | VLS.I-Ar| 37 1.0 0.3 1.0 0.5 10.9
8.2 2.3 0.6 1.3 0.7 50.9
-Ar
V.L.S.I [VLS.I-He| 06 0.6 0.2 0.3 0.2 10.2
5.5 1.4 0.6 1.3 1.1 50.0
-He
V.LS.I | VLS.I- 0.4 0.3 0.2 0.6 0.2 Bal.
H,
- 2.8 1.4 1.0 2.0 3.1 Bal.
H,
V.LS.I | VLS.I- Bal. 0.6 0.3 0.6 0.8 10.9
N>




8
15% x10®
N, 0, THC/CH, H,0O CO+CO,
V.L.S.I-Ar 3.6 1.0 0.4 1.0 0.5
Ar 7.6 2.0 0.6 1.6 0.6
V.L.S.I-He 0.6 0.6 0.3 0.4 0.3
5.0 1.2 0.6 1.6 1.0
-He
VLSI- 0.5 0.4 0.3 0.6 0.3
H,
i 2.0 1.2 1.0 3.3 1.9
H,
VLSI- Bal. 0.6 0.4 0.6 0.8
N>
i Bal. 1.2 0.4 1.6 1.2
N>
9
3% x10®
N, 0O, THC/CH,4 H,O CO+CO»
V.L.S.I | V.L.S.I-Ar 4.2 1.1 0.3 0.7 1.1
Ar 10.8 2.3 0.7 6.5 1.3
V.L.S.I | V.L.S.I-He 0.8 0.6 0.2 0.4 0.3
7.9 1.3 0.7 7.0 1.3
-He
V.L.S.I v.|?\.|s.|- Bal. 0.6 0.3 1.0 0.6
2
i Bal. 1.3 0.4 7.2 1.3
N>
10
10% x10°
N, O, | THC/CH, | CO+CO, | H,O | SO, | HF | Ar
V.LS.I-Ar| 44 | 1.1 0.2 2.2 1.9 | 10.0 | 5.0 | Bal.
99.99% 8.0 | 2.0 0.5 25 1.9 | 10.0 5.0 | Bal.
-Ar
99.99% |[V.LS.I-He| 1.3 | 0.7 0.1 2.1 1.2 |100(50 | 0.1



53 | 1.1 0.5 2.9 1.9 |10.0| 5.0
-He
V.L.S.I- Bal. | 0.7 0.2 0.9 15 |10.0| 5.0
N>
99.99% - | Bal. | 1.1 0.2 3.1 1.9 |110.0| 5.0
N>
V.L.S.I- | 36.8 | Bal. 0.1 2.9 1.9 |100| 5.0 135
99.99% 0O,
(99.97%) - 190.8 | Bal. 0.9 3.8 28 [10.0]| 5.0 | 45.0
O,
11
0.5% x10°
N> 0O, THC/CH, CO+CO,
V.L.S.I | V.L.S.I-Ar 4.0 1.0 0.2 0.5
8.1 2.1 0.6 0.8
-Ar
V.L.S.I | V.L.S.I-He 0.6 0.5 0.1 0.2
51 1.1 0.6 1.3
-He
V.L.S.I V.L.S.I- 0.4 0.2 0.1 0.2
Ho
- 2.1 1.1 1.1 2.3
H.
V.L.S.I V.L.S.I- Bal. 0.5 0.2 0.8
N2
- Bal. 1.1 0.3 15
N>
12
10% x107
N2 O, THC/CH; | H,O | CO+CO, H, Ar
V.L.S.I | V.L.SII-Ar | 3.8 1.0 0.3 1.2 1.2 1.1 | Bal.
8.8 2.3 1.0 15 2.0 2.0 | Bal.
-Ar
V.L.S.I | VLS.I-He| 0.7 0.6 0.2 0.9 0.5 0.4
6.1 1.4 1.0 1.9 1.9 1.0
-He
VLS. | VLSI- | Bal. | 1.0 0.3 15 0.8 1.1
H.
- Bal. 1.4 0.7 2.1 1.9 1.9
H.
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